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Hot bodies & What Happens to Cooler bodies
emit radiation A 4 Incoming Radiation? emit radiation

in shorter wavelength form = in longer wavelength form
Visible and UV Light Energy = Heat Energy

A Visinile
- i

spectral [
Irradiance
Intensity
wm2/um

0.9 = 1.3 i -
Wavelength [micrometer)

http://solarcellcentral.com/image
s/solar spectrum 2.jpg




The — Transformed to
Infra-red = heat.

.\
Atmosp heric Remainder Then what?
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Incoming Visible light

Some infra-red
is absorbed by
atmospheric

gases
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If atmospheric gas
density increases,
more heat is retained
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The Main GreenHouse Gases (GHG)

Carbon dioxide
100 year GWP =

Longevity =
centuries

Longevity = 10 Days

Water
Dihydrogen monoxide

s CFC / HCEC

“ae.

100 \. GWP > 5,000
Longevity = 250 years

GWP = Global Warming Potential:

the relative heating capacity of 1
Kg of a gas compared to 1 Kg of
Co,.

Also known as the Carbon
dioxide equivalent
CO,e.

Methane
100 year GWP
20 GWP = 86

Longevity = decadeJ

Nitrous oxide
100 year GWP = 298
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Longevity = century
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~ Sources of Most Warming Gases
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